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Arrange the elements H, J and carbon in the order of their decreasing reactivity.
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23.  When a sample of concentrated sulphuric (IV) acid was left in an open beaker in a room for two days the

volume was found to have increased slightly.
(a) What property of concentrated sulphuric (IV) acid is shown by the above reaction?

(1mk)

the property namedabove. (1mk)
mes
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(b) State one use of concentrated sulphuric(IV) acid that depends on

24.  The diagram below shows a set used to prepare gas Z.

é!‘é/Dﬂute hydrochloric acid
E" i r—:’_—_?

iron(ll) sulphide

(1mk)

a) Complete the diagram to show how gas z is collected.

'b) Write an equation for the reaction between iron(IT)sulphide and dilute hydrochloric acid. (1mk)
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Butane burns in air according to the equation below.
53 2C4H10(g)+ 1302(3)—> 8 COZ(g) o 10H20(|)

‘What volume of butane must be burnt in oxygen to give 11 g of carbon (IV) oxide at r.t.p? (Molar gas
volume at r.t.p= 2. 0%; C= 12; 0= 16; H=1.0) (3mks)
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27 When magnesium ribbbn is burnt in air, two compounds were formed, one of which is
magnesium oxide: -
(i) Name the other compoux?d. ’ : i
- i /L.LG!.‘;ZJM..D.H.(:.’....zz./’.":.l.:'..r.’..-.—) ......... [

(ii) Describe an experiment to identify the solid you have named in (i) above.
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Beggining After a week

State and explain the observations made on the moist iron wool at the end of theexperiment (after a
(1mk)
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(ii) Mixture F contains all the three ions. On the diagram show the chromatogram of F. (1mk)

(iii)Comment on the ion N in the diagram. (1mk)

3. The following data gives pH values of solutions A, B and C.

Solution A B (o
i PH 13.6 6.9 13

(i) Which solution named produce carbon (IV) oxide where reacted with a carbonate?  (1mk)

Write an ionic equation to show how the above reaction a(i) would be represented
: e ’





image3.jpeg
SO bbb OSSO

s the identification of unknown metal iow: and . Thereference
“!experm-mdmh-u-ﬁq-d

Mixture F contains all the three ions. On the diagram show the chromatogrzm of F. (fmik)
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Zinc sulphate
solution

b) Write the ionic equation involving zinc ions. (1mk)
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3. The melting point of phosphorus trichloride is 90°C while that of magnesium chloride in 715°C in
‘terms of structures and bonding explain the differences in their melting point. (3mks)

(ontc Struceere

(a) Name one property of Neon that makes it possible to be used in electric lamps. (Imk)
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it) Carbon (iv) Oxide
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tion of salt of sodium chloride is 70.0g. This solutiopohas 10.0g of sodium ¢l
Tubility of this salt 30g/100g of water at 25°C. M8 of sodium chloride
it 2 How much sodium chloride will remain undissolved?
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n= £8

: . 25
dy the information below and answer the questions that follow.

Relative molecular mass of hydrocarbon |

S =60
(c) Determine the molecular formular of hydrocarbon in (b) and draw its structural formula (H=1, C=12).
(2mks)
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X g of sodium hydroxide were dissolved in distilled water to make 100em’ of solution. 50cm’ of this
ution required 50cm’ of 2M nitric(v) acid for complete neutralization. Calculate the mass x of sodium

soll 7
hydroxide dissolved. (Na =23, 0 =16, H=1) (Bmks)
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